
Образец 
Лексико-грамматического теста для олимпиады  

по английскому языку 
1. Вставьте подходящие по смыслу слова: 

1) Smooth muscle cells are usually ..., they have an oval nucleus that … nucleoli, and when the cell is 
…  the nucleus  may become folded. 

A) elongated /encloses/ contracting   B) square/ includes/ relaxing   C) elongated/ encloses/ enlarging 
2) Inhalation is… by exhalation 

A) influenced  B) followed  C) effected D) assisted 
2. Найдите пары синонимов: 

1) tiny               2)    membrane           3)  atrium      4) participate 
A)  fine        B)  auricle                  C) coat           D) take part 

3. Найдите пары антонимов: 
1) attend                      2)   fast                                   3) above         4) connect                                            

                  A)     slow                    B) below                                C) separate             D) miss 
4. Вставьте необходимую грамматическую форму или грамматическую единицу:                                        

1) The arteries are (large) than capillaries and the aorta is the (large) artery. 
A) largest / larger  B)  larger / largest  C) more large / most  large 

2) During epidemics … may catch a disease at … time or other. 
A) everybody / any  B)  somebody / some C) anybody / some. 

3)   Student Ivanov …allowed to move and he … stay at home as his leg still aches. 
      A)  is /must          B) isn’t / should              C) isn’t / is able 

5. Образуйте производные от данных слов с помощью суффиксов – (t)ion, -al, -less, -ly, -y, -th: 
circulate –                   life -               health -  
spine -                         careful -          deep- 

6. Выберите соответствующую форму глагола:                      
1) Does the arm … the body at the shoulder? 

A) join     B)  joins    C) is joined         D) joining 
 
2) The heart and the lungs … into the chest formed by the ribs.               

A) included            B) are included         C)  were included    D) including 
 
3) If you  … hard you  … all your exams. 
  A) work  / will pass     B) will work / shall pass      C) worked       D) will work / will pass 
7.  Выберите правильный перевод предложений: 
1) There are three groups of vertebrae in the spine according to their position. 
 
А) Согласно положению в позвоночнике имеются позвонки 3-х групп. 
В) В позвоночнике имеются 3 группы позвонков в соответствии с их положением. 
С) В зависимости от положения в позвоночнике имеются 3 группы позвонков. 
 
2) It is in this picture that you can see the blood vessel size differences. 
 
A) Именно на этой картинке Вы видите разницу в размере кровеносного сосуда. 
B) На рисунке Вы можете увидеть различия размеров кровеносного сосуда. 
C)  Именно на этом рисунке Вы можете увидеть различие кровеносных сосудов по размеру.  
8. Выберите правильный вариант построения общего вопроса к данному предложению: 
 
Our students are carrying on a laboratory work now. 
 

A) Do your students are carrying out a laboratory work now? 
B) Are your students carrying out a laboratory work now? 
C) Are carrying out your students a laboratory work now? 
D) Were your students carrying out a laboratory work now? 

 


